
s a t o r a c i n g . c o m

part# D-MULTIFS  (LONG-style)

DUCATI (various)

FRAME SLIDERS 

L R
SLIDER SHAFT 395

[FSBT-395]

SLIDER SHAFT 395
[FSBT-395]

*COLLAR (PRE-INSTALLED)
[CLR-65-12M]

 

*COLLAR (PRE-INSTALLED)
[CLR-65-12M]

 

*COLLAR (PRE-INSTALLED)
[CLR-65-12M]

 

part# D-M900FS  (SHORT-style)

L R

WASHER M12
[WS-12] *SLIDER PUCK

[SDR-L12-70]

*SLIDER PUCK
[SDR-L12-100DS]

WASHER M12
[WS-12]

WASHER M12
[WS-12]

WASHER M12
[WS-12]

*SLIDER PUCK
[SDR-L12-70]

*SLIDER PUCK
[SDR-L12-100DS]

* Slider Puck and Collar are sold with together as a single part, with the Collar pre-installed inside the Slider Puck.

*COLLAR (PRE-INSTALLED)
[CLR-65-12M]

 

(use stock nut)

(use stock nut)


